Name _____________________                                               Algebra II Chapter 5.1-5.5

                                                                                                    Review Worksheet


1. Solve 
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2. Solve 
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3. The distance 
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 traveled in 
[image: image4.wmf]t

 seconds by an object dropped from a height is 
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.  If an object is dropped from a height of 126 ft, how long will it take before the object hits the ground?  Round your answer to the nearest 0.01 second.

4. Write an equation in the form 
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 for a parabola that has vertex (3,-2) and passes through the point (2,2).

5. Write the function 
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 in vertex form.

6. Rewrite 
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 in intercept form.  Algebraically, identify the x-intercepts of the function’s graph and find the coordinates of the vertex.

7. Write an equation in intercept form for the parabola shown.
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8. The equation 
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 gives the height, 
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, in feet, of a softball as a function of time, 
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, in seconds, after it is thrown.  Using the Completing The Square method, determine the maximum height the softball reaches.

9. Solve using the Quadratic Formula:  
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a.  Exact answers ____________     ____________

b. Approximations to the nearest tenth  ___________   __________

10. Using the Quadratic formula, find the x-intercepts, if any, for the graph of 
[image: image14.wmf]2

9124.

yxx

=-+


11. Give the value of the Discriminant and tell if the equation has two, one, or no solutions.
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         Discriminant _________  # of solutions _________
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            Discriminant _________ # of solutions __________

12. The parabola of 
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 opens up or down?  How do you know?

13. Graph 
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14.  Describe 
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Vertex ______________

Line of symmetry __________

Parabola opens up or down _________

Graph in grid to the right.

15. How do the graphs of 
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      and 
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